
1

MICROHELI CO., LTD.

01

CAUTION: Please check your model helicopter carefully before attemp to fly!

LOCTITE

Apply Loctite

.....x8

M1.6x4mm Cap Screw

LOCTITE

Apply Loctite to all screws

ALUMINUM TAIL BOOM/SERVO MOUNT SET

MH-18FX005MS

BLADE 180 CFX  HELICOPTER Aluminum Tail Boom/Servo Mount set INSTRUCTION

COPYRIGHT © 2017 MICROHELI

®

REV. 18FX005MS-230115-01

M1.6x4mm

Phillips Head Screw

M1640PSS

5x8x2mm

Radial Bearing

MR85

Tail Boom Mount

MH-18FX005M

M1.6x6mm

Phillips Head Screw

M1660PSS

5x6.5x1mm

Brass Spacer

506510BS

Tail Boom Mount

Upper

MH-18FX005TU

2.5x6x1.8mm

Radial Bearing

682X

Main Frame

(Stock part

not included)

M1.6x4mm

Cap Screw

M1640CSS

Torque Tube Gear

(Stock part

not included)

Tail Pinion Gear/Shaft

(Stock part

not included)

Bevel Gear

(Stock part

not included)

Tail Boom Mount

Lower

MH-18FX005TL

2.5x6x1.8mm

Radial Bearing

682X

5x8x2mm

Radial Bearing

MR85

M1.6x4mm

Phillips Head Screw

M1640PSS

M1.6x4mm

Cap Screw

M1640CSS

.....x6

M1.6x4mm Phillips Head Screw

.....x1

M1.6x6mm Phillips Head Screw

.....x1

5x6.5x1mm Brass Spacer

.....x2

2.5x6x1.8mm Radial Bearing

.....x2

5x8x2mm Radial Bearing

C.A glue

Apply C.A glue

Tail Gear Case

(Stock part

not included)

Tail Boom

(Stock part

not included)

M1.4x5mm

Phillips Head Screw

M1450PSS

Tail Servo Mount

MH-18FX021

Tail Servo

(Stock part

not included)

M1.6x4mm

Phillips Head Screw

M1640PSS

Aluminum Tail Servo

Tab Support

MH-18FX005TS

M1.6x4mm

Phillips Head Screw

M1640PSS

Tail Servo Mount

MH-18FX021

Aluminum Tail Servo

Tab Support

MH-18FX005TS

147mm

Please adjust dimension of Tail Push Rod

like the illustration below:

Remove Servo Arm from Tail Servo, then

rotate it by 180 degrees before installation.

M1.6x4mm

Phillips Head Screw

M1640PSS

.....x2

M1.4x5mm Phillips Head Screw


	Sheets and Views
	Model


